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ECONOMICS
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Paper : ECO-HC-1016
( Introductory Microeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions (any ten) :
1x10=10
O PR S it (R it w=bt)
(@) What is the problem of ‘choice’?
REE i b
(b) Distinguish between a firm and an
industry.

B! iR AT < SrioR Tiwe wiidey By
41 |

() Mention one feature of capitalism.

sfferaime bt @By Sy 3wt

(d) State one feature of economic goods.

SAfoT ANIZT @51 @R S = |
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(e)

(9)

()

(i)

G

(k)

()

(m)

(n)

(o)

A23/447

(2

What is cross demand?

f$= wiftmt &9

Write the demand function.

BIfwl Fereest for |

What are complementary goods?

I ANToZ 59

Draw the demand curve of Giffen goods.

ey RS sifwi e |

What is the shape of perfectly inelastic
supply curve?

T SRS @t s 59
What is producers’ surplus?

CRARTZY o6 159

Define opportunity sets.
Tt Fk2feq el fm |

What is income consumption cuyrye?
S SoATSlel @4t fono

Mention the concept of market demand.

WWWWWWl

Distinguish between stock an

d supply.
S i SIRICE I 0 Afw foyefy 49 |

Define imperfect Competition

9t dfewifrer @ fgt |

( Continued )
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(p) What is derived demand?

Tgo bl 52

(g) State one character of labour market.

A9 IGIFT 951 @Ry SrEy F4l |

() What is meant by property rights?

Tfed 792 5 q@im?

. Answer the following questions in short
(any five) :
©ed APTRe 5Y Oed frl (R GieT +fobt) -

(a) Distinguish between positive economics
and normative economics.

oA TS wiF wiefre wdifes Jiers
Mg Ay 4t

(b) What is economic problem?

sftafes Tl 592

() Write any two features of basic
competitive model.

@ dferfenEe @ifs R el B
gy forat |

(d) Why is the cross elasticity of demand
for substitute goods always positive and
negative for complementary goods?

Sifvie ot Refsmermet R s fes s
CPIS FINF HIE CfREET AN RS
YT 272

2x5=10
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(e)

(B#a.)

If price elasticity of demand for milk is
edual to unity (-1) and if at the price
20??0 per litre a household demands

litres milk, then how much milk

will be demanded 5
t 760
per litre? at the price of

S W ofs Bibl iR ww 40 Tt @ET©
D T 40 BibR MR bi] 2, (03

( 5)

3. Answer the following questions (any four) :

5x4=20

oo HNERE Ted (R @ wifsen) -

(@)

What is price rationing? Explain the
impact of price rationing on the market.

1+4=5
v e 697 7@ eI (P TR
@oqe el B FE@, Tl 4|

A e
s AR 7 60 T e AR (b) How does the profit motive drive the
After fmater 7’39 market system? Discuss. 5
h w : Aeq SRR (FETE ISR JIET SARbiTe
Why do two indifference curves not o v
Intersect each other? FE? FCED F9
T 0T @4t Ry oot o T ; LI .
(9 Why is the (c) Explain the characteristics of a mixed
Upward slopinsggpply R Sl ;:) nomﬁyﬁ._ g :
(h) Distingy; .8 i ; i
guish betw, ; (d) What is price mechanism? How does
Costs, een fixed and variable price mechanism allocate resources?
o g 1+4=5
‘ﬁ@\&-ﬁﬁa
0 TI9 “fisfey fcfg <41 | v dfey €7 W AR @EmE A
Mentiop, Hor freqs @2
®Nhance © Bovernment policies '
&'Px(::f{npetition in the market. /o) * What is budget linep 1
I&Gas o 5 e at 1s budget line ow do changes
Bo ot Tl g R o4t 7Bt HpIal e in income and prices affect the budget
0w : line? Use diagrams. 1+2+2=5
Y do
the Jegpy DUt demand curves shift to FTes @ 52 W i T LAReSE @M
Sty G [@F deie FE? e I Al
PR 4 ey e TR =7
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(9)

(h)

(6 )

Show that a monopolist always operates

on the elastic part of the demand curve.
Why? 3+2=5
(ST @ SOOI PR o biRkE @i
EfoZe SRS sl | a9

Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5
T T HF T IFT TS T Boi 51 |
eifes T @R AT /W @F B oo o)

&1 FE?

Explain the various factors determining
the demand for labour. 5

= o il e Rfsw siwemz g
el

Answer the following questions (any four) :

10x4=40

O QWIS ©eT frt (R Gieent wifi)

(@)

A23/447

What are the fundamental economic
problems of an economy? How can
various economic problems be explained
through the use of production possibility

curve? 446=10
mmwﬁﬁﬁﬁﬁ@wﬁ#ﬁwmmmg%ﬁw

ﬁiﬁ'ﬁi Tﬂﬂiﬂﬁw W @Q"ﬂ‘ﬂ W
(T TR PG <01 R o119

( Continued )

(b)

()

(@)

(e)

A23/447

( 7))

How is 'efﬁciency of market linked with
producers’ and consumers’ surplus? o
Explain.

TN T7E WIF (SIS Tged Fse IWiTT
ol 6 AT WiR? IR A

Explain the various factors determining
individual and market demand. 10

Jfeers bitw wiF Iw9 o TR
R 4t |

What is substitution effect? Explgin the
concept of substitution effect with the
help of Hicksian and Slutsky method.

1+5+4=10
sifws Rt 57 21 o 5l afed =iwe
sifors el 4iFacsl oot i |

Explain the process of consut"nex:’s
optimum choice with the help of indif-
ference curve approach. 10
e @ ReEes Rre Cel I 'v
SR o T

Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-
run average cost curve. 8+2=10

TP T UF @R RTS ANweE 6w
M @4 T2 9 ASE e W @

U-SiIgfeq @ FRPTHR fert |
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(9) Ex;ilain the behaviour of a profit maxi-
mizing firm in the short-run. 10
ZIFA IS G4 FS Al AfoHi
5] T 4t |

(h) Discuss the rationale behind the
regulation of monopoly practices. What

role do antitrust policies play in
monopoly regulation? 7+3=10
A AP FEET e et i
T IO JEI g e-Rdt
SRR 5 S =19

(i) Describe the various applications of
elasticity of demand in economics. 10

wdiifes i Rfememern Rfer s
It w4t |

() Explain how wages are determined in a
competitive labour market. 10

dfeRifomeT ¢ Jurs TR @EE
ferdfifee =7, g 1)

* & &
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